

Integration:-

The reverse process of differentiation is called integral or anti-derivation or anti-differentiation.

* Some Useful Formulae *

$\int 0 dx = C$ (Constant)

$\int 1 dx = x + C$

$\int x^0 dx = x + C$

$\int \lim_{x \rightarrow 0} \frac{\sin x}{x} dx = x + C$
Simple Form

$\int \lim_{x \rightarrow 0} (1+x)^x dx = xe + C$ where $e \approx 2.7183$
General Form

i) $\int x^n dx = \frac{x^{n+1}}{n+1} + C$

$\int (ax+b)^n dx = \frac{(ax+b)^{n+1}}{a(n+1)} + C$ for $n \neq -1$

ii) $\int \sin x dx = -\cos x + C$

$\int \sin(ax+b) dx = -\frac{\cos(ax+b)}{a} + C$

iii) $\int \cos x dx = \sin x + C$

$\int \cos(ax+b) dx = \frac{1}{a} \sin(ax+b) + C$

iv) $\int \sec^2 x dx = \tan x + C$

$\int \sec^2(ax+b) dx = \frac{1}{a} \tan(ax+b) + C$

v) $\int \operatorname{cosec}^2 x dx = -\cot x + C$

$\int \operatorname{cosec}^2(ax+b) dx = -\frac{1}{a} \cot(ax+b) + C$

vi) $\int \tan x \sec x dx = \sec x + C$

$\int \tan(ax+b) \cdot \sec(ax+b) dx = \frac{1}{a} \sec(ax+b) + C$

vii) $\int \cot x \operatorname{cosec} x dx = -\operatorname{cosec} x + C$

$\int \cot(ax+b) \cdot \operatorname{cosec}(ax+b) dx = -\frac{1}{a} \operatorname{cosec}(ax+b) + C$

viii) $\int e^x dx = e^x + C$

$\int e^{ax} dx = \frac{1}{a} e^{ax} + C$, $\int e^{\lambda x + \mu} dx = \frac{1}{\lambda} e^{\lambda x + \mu} + C$

ix) $\int a^x dx = \frac{a^x}{\ln a} + C$

$\int a^{\lambda x + \mu} dx = \frac{1}{\lambda \ln a} a^{\lambda x + \mu} + C$

x) $\int \frac{1}{x} dx = \ln|x| + C$

$\int \frac{1}{ax+b} dx = \frac{1}{a} \ln|ax+b| + C$

xi) $\int \tan x dx = \ln|\sec x| + C$

$\int \tan(ax+b) dx = \frac{1}{a} \ln|\sec(ax+b)| + C$

xii) $\int \cot x dx = \ln|\sin x| + C$

$\int \cot(ax+b) dx = \frac{1}{a} \ln|\sin(ax+b)| + C$

xiii) $\int \sec x dx = \ln|\sec x + \tan x| + C$

$\int \sec(ax+b) dx = \frac{1}{a} \ln|\sec(ax+b) + \tan(ax+b)| + C$

xiv) $\int \operatorname{cosec} x dx = \ln|\operatorname{cosec} x - \cot x| + C$

$\int \operatorname{cosec}(ax+b) dx = \frac{1}{a} \ln|\operatorname{cosec}(ax+b) - \cot(ax+b)| + C$

xv) $\int \frac{1}{\sqrt{1-x^2}} dx = \sin^{-1} x + C$

$\int \frac{dx}{\sqrt{a^2-x^2}} = \sin^{-1}(\frac{x}{a}) + C$

xvi) $\int \frac{1}{1+x^2} dx = \tan^{-1} x + C$

$\int \frac{dx}{a^2+x^2} = \frac{1}{a} \tan^{-1}(\frac{x}{a}) + C$

xvii) $\int \frac{1}{x\sqrt{x^2-1}} dx = \operatorname{sech}^{-1} x + C$

$\int \frac{dx}{x\sqrt{x^2-a^2}} = \frac{1}{a} \operatorname{sech}^{-1}(\frac{x}{a}) + C$

xviii) $\int \frac{1}{1-x^2} dx = \frac{1}{2} \ln \left| \frac{1+x}{1-x} \right| + C$

$\int \frac{dx}{a^2-x^2} = \frac{1}{2a} \ln \left| \frac{a+x}{a-x} \right|$

xix) $\int \frac{1}{x^2-1} dx = \frac{1}{2} \ln \left| \frac{x-1}{x+1} \right| + C$

$\int \frac{dx}{x^2-a^2} = \frac{1}{2a} \ln \left| \frac{x-a}{x+a} \right| + C$

xx) $\int \sinh x dx = \cosh x + C$

xxi) $\int \cosh x dx = \sinh x + C$

xxii) $\int \operatorname{sech}^2 x dx = \tanh x + C$

xxiii) $\int \operatorname{cosech}^2 x dx = -\coth x + C$

xxiv) $\int \operatorname{sech} x \tanh x dx = -\operatorname{sech} x + C$

xxv) $\int \operatorname{cosech} x \coth x dx = -\operatorname{cosech} x + C$

TAHIR MEHMOOD
M.Sc Math
0345-6510779

TAHIR MEHMOOD

M.Sc Math
0345-6510779

2nd Year

OBJECTIVE (Math)

15

xi) $\int \frac{1}{1+x^2} dx = \underline{\hspace{2cm}} + c$

- a- $\cot^{-1}x$ b- $\tan^{-1}x$ c- $\cos^{-1}x$ d- $\sin^{-1}x$

xii) Differential of y is $dy = \underline{\hspace{2cm}}$

- a- $f'(cx)$ b- $f(x)dx$ c- $f'(x)dx$ d- $f(x)$

xiii) $\int \cot x dx = \underline{\hspace{2cm}}$

- a- $\ln|\sin x| + c$ b- $\ln|\cos x| + c$ c- $\ln|\sec x| + c$ d- $\ln|\csc x| + c$

xiv) $\int e^x \left[\tan^{-1}x + \frac{1}{1+x^2} \right] dx = \underline{\hspace{2cm}} + c$

- a- $e^x \tan^{-1}x$ b- $e^x / (1+x^2)$ c- $-e^x \tan^{-1}x$ d- $\frac{-e^x}{1+x^2}$

xv) $\int \frac{dx}{x^2+a^2}$ can be evaluated by substituting $x = \underline{\hspace{2cm}}$

- a- $a \cos \theta$ b- $a \sin \theta$ c- $a \sec \theta$ d- $a \tan \theta$

xvi) $\int \frac{1}{x \ln x} dx = \underline{\hspace{2cm}} + c$

- a- $\ln x$ b- $\ln(\ln x)$ c- $\ln(x \ln x)$ d- $(\ln x)^2$

xvii) $\int_a^b f(x) dx = \underline{\hspace{2cm}}$

- a- $F(a) - F(b)$ b- $F(b) - F(a)$ c- $F(a) + F(b)$ d- $2F(a)$

xviii) $\int \frac{dx}{\sqrt{a^2-x^2}} = \underline{\hspace{2cm}} + c$

- a- $a \sin^{-1}x$ b- $a \sin^{-1}(x/a)$ c- $\frac{1}{a} \sin^{-1}(x/a)$ d- $\sin^{-1}(x/a)$

xix) $\int e^x(x+1) dx = \underline{\hspace{2cm}} + c$

- a- e^x b- xe^x c- $e^x(\frac{x^2}{2} + x)$ d- $e^x(x+1)$

xx) $\int \cos 2x dx = \underline{\hspace{2cm}} + c$

- a- $\sin x$ b- $-\sin 2x$ c- $-\frac{1}{2} \sin x$ d- $\frac{1}{2} \sin x$

xxi) Order of $y \frac{dy}{dx} + 2x = 0$ is $\underline{\hspace{2cm}}$

- a- 0 b- 1 c- 2 d- 3

xxii) $\int_0^{\pi/4} \sec^2 x dx = \underline{\hspace{2cm}}$

- a- 0 b- 1 c- $\pi/4$ d- $\pi/2$

xxiii) $\int (e^x+1) dx = \underline{\hspace{2cm}} + c$

- a- $e^x + x$ b- e^x c- $e^x + e^{-x}$ d- $e^x + x^3$

xxiv) $\int_0^2 2x dx = \underline{\hspace{2cm}}$ a- 0 b- 2 c- 4 d- 9

xxv) $\int \ln x dx = \underline{\hspace{2cm}} + c$

- a- $x \ln x$ b- $x \ln x - x$ c- $(x-1) \ln x$ d- $(x+1) \ln x$

xxvi) $\int \frac{f'(x)}{f(x)} dx = \underline{\hspace{2cm}} + c$

- a- $f(x)$ b- $\ln|f(x)|$ c- $[f(x)]^2$ d- $2 \ln|f(x)|$

xxvii) $\int_0^{\pi} \cos x dx = \underline{\hspace{2cm}}$

- a- 0 b- 1 c- 2 d- 4

TAHIR MEHMOOD
M.Sc. Math
★ 0345-6510779